1 |~F>Q) Given
2 | ~G>oH) Given Derive: |
113 |~ Al ~| (contradiction)
21|14 |G A2 ~| (contradiction)
321(5 |F A3 >l (G)
321|6 |G 4R
12117 |F>G 5-6 ol
2118 | (FOG)&~(F>G) |1,78&l contradiction
11719 | ~G 4-8 ~| Note: “H ©o~G is equivalentto GO H
4110 |~H A4 >l (~G)
41|11 |~G 9R
11]12 | "H>~G 10-11 ol | Seenoteon?9
51113|G A5 ol (H)
651 |14 | ~H A6 ~| (contradiction)
651 |15 |~G 12,14 oE
65116 | G&"~G 13,15 &l contradiction
15117 | ~~H 14-16 ™I
51|18 | H 17 ~E
11119 | GoH 13-18 ol
1/20| (GoH)&~G>DH)|2198&l Contradiction
121 |~ 3-20~I
22 | | 21~E QED




Alternate (If you want the proof to be harder than it has to be):

1 |~F>QG) Given
2 | ~G>oH) Given Derive: |
13 | ~Gv~G) Al ~| (contradiction)
214 |G A2 ~| (contradiction)
21 |5 |Gv~G 4 vl
21|16 |(Gv~G)&~(Gv~G) |3,5&l contradiction
1117 |~G 4-6 ~|
118 |Gv~G 7 vl
1/9 |[(Gv~G)&~(Gv~G) | 3,8&l contradiction
1110 | ~~(Gv~G) 3-9~
11| Gv~G 10~E
la |12 | G Ala VE (1)
31a |13 |~ A3 ~| (contradiction)
431a |14 | F A4 ol (G)
431a |15 |G 12R
131a |16 | Fo G 14-15 ol
31a |17 | (Fo G)&~(FDG) 1,16 &l contradiction
Ila | 18 | ~~I 13-17 ~I
la| 19 || 18~E
1b | 20| ~G A2b vE (1)
51b | 21 | ~I A5 ~| (contradiction)
651b |22 | ~H A6 ol (~G)
651b | 23 | ~G 20R
151b | 24 | ~H o~G 22-23 ol
751b | 25 | G A7 ol (H)
8751b |26 | ~H A8 ~| (contradiction)
8751b | 27 | ~G 24,26 oE
8751b |28 | G&~G 25,27 &l contradiction
1751b | 29 | ~~H 26-29 ~|
751b |30 | H 29 ~E
!151b |31 | GoH 25-30 ol
51b |32 | (GO H)&~(G>DH) 2,31 &l contradiction
Ilb | 33 | ~~I 21-32 7|
1b | 34 || 33~E
11351 11,12-19,20-34vE | QED







